(OFP 2S02 2/22(2024

(V) b o PostEv

@ Qoeve == (Dochly <o ook Corm Wlese
@ L L implesentaron Queve

@ /4/&:7 - Qocuve

@ Live Code ~Grid uvses Queve

Rules

Sk\clz - @fe/m‘O/ Skefe + Porens (@ﬁm)

Gods Otph s Fostfie Ecpesgon

Roed  symbol< L >R, process (lem (Ssne oftevals)

é > b‘vﬂ/g% eepl
¢t an © persnd (#)
P(ch 1 et e e of The E e prel (107

@(Sé IC i1s Oper opc.fc?/n”/ltng
r/s‘L, oale Stck

‘e(@/( (C l"/(S S (’/(0;{ /G/cwn(gg'
P7 el Ueom of  Skee Gno  plce 1o
Yhe €€presSion, Sh ¢ rght Sfer goo PP
Tle &9”‘9%0”& G OpPer p@;/t’ﬂ(/zm‘ ploced )

{(g{ // [t S C9/)—e/<>(9f
pop o e eacl apz,mLo/ Bon shkele et g

A egusl o gﬂlﬂ p/C’Ce/c%ca)P(Qcmg (4 jale
e eepresgon, oo hit a perea,
enp) slzc)f» OA chm of /oMgf peetedence, Then posh




Convert the following infix expression to postfix using a stack. Show the contents of the stack at
the indicated points (A, B, and C) in the infix expression.
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Convert the following infix expression to postfix using a stack. Show the contents of the stack at
the indicated points (A, B, and C) in the infix expression. / + / o
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Con IoIKTwmg infix expression to postﬁx using a stack. Show the contents fthe stack at
the indicated points (1, 2, and 3) in the infix expression. ! 31
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A+@B*(C-D ) + ((E / F)+ G) +H
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